
s|=;+= of]hgfsf] gfd 6f]n, j:tL j8f g+= ah]6 /sd

1 ;fpu8f t]5f{3f6 b'jnf eNof e/f{{ ejfgL x'b} zf/bf df=lj ;8s v08 lg= ! 1500

2 :jfn gª/f}3f6 ;8s v08 dd{t ! 1000

3 zdf{nL rGof s'8 laBfno x'b} eNof ;8s lg ! 700

4 s}nkfn Gjnf] a]8'dfO{ hfg] af6f]df cf/=l;=l;=k'n ! 50

5 :jfn lzz' sf]nLsgnf s':df}t3f6 ;8s ! 400

hDdf 3650

1 v]ns'b tyf xflh/ hjfkm sfo{qmd ! 100

1 l;]njfg vf]nfgL nf]8fgL36\6 lgdf{0f ! 100

2 l;nfO{s6fO{ tflnd ! 250

3  dlxnf lx;+f ;r]tgf sfo{qmd ! 160

hDdf 510

1 cf/g ;'wf/ ! 200

1 blnt ;r]tgf sfo{qmd j8f e/L ! 70

270

1 lhpGof vf=kf= dd{t ! 50

2 s'8 vf8f vf=kf= of]hgf ! 100

3 8f]s s'8 vf=kf=lgdf{0f ! 150

4 8f]/d lhp/]8L vf=kf= of]hgf ! 100

5 s'8 vf=kf=dd{t ! 100

6 dNnL s'8 vf=kf= of]hgf ! 250

7 afnL s'8 vf=kf= of]hgf ! 250

8 8ªuf]/L tNnL dNnL vf=kf= lgdf{0f ! 200

9 /f]6] vf=kf= lgdf{0f ! 100

11 df]jfvf]nf /h/d8 d'n dd{t ! 50

13 ugf d6]nf vf=kf= dd{t ! 50

14 sf]nL sgnf vf=kf= lgdf{0f ! 300

15 d6v08 vf=kf= lgdf{0f ! 100

cf=j=@)&$.&% jf8{  jfO{h of]hgf laa/0f, lzjgfy uf=kf= lzjgfy a}t8L

afnaflnsf tkm{

dlxnf tkm{

h]i7, ckf+u, cflbjf;L blnt tyf lk5l8Psf] ju{    

vfg] kfgL tkm{

mailto:cf=j=@)&$.&%25%20jf8%7b%20%20:tl/o%20of%5dhgf%20laa/0f,%20lzjgfy%20uf=kf=%20lzjgfy%20a%7dt8L


16 vfnLdfO{ :jfn Gjfnf] dd{t ! 60

17 bGgL vf=kf= dd{t ! 100

18 j]8'dfO{ vf=kf= lgdf{0f ! 200

19 lqkj]0fL cf=lj= vf=kf= ! 50

20 d6ld6f vf=kf= of]hgf ! 800

hDdf 3010

1 lhld/vf]nf l;=kf]=lg= 1 100

2 lhpGof l;=kf]= lgdf{0f tNnf] ! 100

3 3fªnL lhpGof l;=s'nf] lgdf{0f ! 100

4 t'8L ;]nf l;= s'nf] lgdf{0f ! 100

5 ;]njfg jf]O{Jof l;=s' lgdf{0f ! 150

6 /fOt'8 l;=s' lgdf{0f blnt j:tL ! 50

7 dNnL d'tofn s':df}t l;=s' lgdf{0f ! 300

8 ;]nfjfg l;=kf]= lgdf{0f ! 100

9 jfnvf]nf d6]nf l;=s' lgdf{0f ! 300

10 rf]/vs{ ufp ;Nnf s':df}t3f6 s'= lgdf{0f ! 200

11 dNNfLuf8 l;=kf]= lgdf{0f ! 100

12 sr'/fgL l;=s'= kf]=lgdf{0f tyf 36\6 lg= ! 300

13 kn]/ l;=kf]= lgdf{0f ! 100

14 s's'l8uf8 jfnL l;=kf]=lgdf{0f blnt j:tL ! 100

15 l;df/ d6]nL tNNff] s'nf] lgdf{{0f ! 200

16 ;]pnfgL kf]=s' lgdf{0f ! 100

17 kftfn l;=kf]=dd{t ! 180

18 3gf3f6 l;=s'= lgdf0f{ blnt j:tL ! 100

hDdf 2680

1 zf/bf df=lj=d6]nf lkmN8 lgdf{0f ! 400

2 e/f{ ejfgL cf=lj= lkmN8 lgdf{0f ! 200

3 gfufh"{g cf=lj= lkmN8 lgdf{0f ! 400

5 ;/:jtL cf=lj= lkmN8 lgdf{0f ! 100

6 lqj]0fL cf=lj= t'8L lkmN8 lgdf{0f ! 100

7 dxfsfnL cf=lj=ejg dd{t ! 150

l;+rfO{ tkm{

ljBfno tkm{



8 ;/:jtL cf=lj=ejg dd{t af]8a] ! 300

9 eujtL cf=lj=ejg dd{t ! 400

hDdf 2050

k'0f{ ;/;kmfO{ tyf k"0f ;fIf/tf tof/L sfo{qmd ! 100

afnljjfx Golgs/0f laBfno :tl/o j8f el/ 50

lzz' sIff ;+rfng k|To]s laBfno el/ ! 380

lzz' sIff ;+rfng  lhpGof, ! 100

ufp+;Nnf aly{+u ;]G6/ ejg lg=tyf zf}+rfno 

,kmlg{r/ lg ! 500

;f=:jf:Yo PsfO{ ejg tyf vf=kf=Joj:yfkg 250

aly{+u;]G6/ ejg tyf kmf]x/ Joj:yfkg ! 250

lszf]/ lszf]/L sg{/ lg= ! 50

k'0f{ ;+:yfut ;'ts]/L tof/L sf= ! 50

! cf}ifwL tyf  9'jfgL 40

rSsL lg=blnt al:t :jfn ! 100

kftn b]vL /f;gL kfgL 6+sL klx/f] lgoGq0f ! 200

* bf]u8f klx/f] lgoGq0f ! 500

!) ;xsf/L Joj:yfkg ! 100

1 eujtL dlGb/ wd{zfnf lgdf{0f ! 350

2 s}nkfn dlGb/ lgdf{0f bnLt a:tL :jfn ! 50

3 e'ld/fh dlGb/ zf}rfno lgdf{0f ! 50

4 bGgL dlGb/ lkmN8 lgdf{0f ! 50

5 gful/s j8fkq / tflnd ! 10

6 ;fj{hgLs ;'g'jfO{ ! 50

hDdf 3230

jf8{ g+=  ! sf] hDdf  -&^ of]=;+=_ 15500

1 l;nuf b]jfn af6f] lgdf{0f @ 400

2 zdf{nL u/fnL kf}v/ hf]nfkfgL vfn v}/]gL u|f=;8s @ 600

3 zdf{nL ;gsf]6 e}nf]8f eNof s[lif ;8s @ 600

4 a;sf]6L vfn n]bf v}/fgL 3f6 u|f = ;8s @ 600

5 ;'Nn]vfg gu/f}3f6 ;8s @ 364.5

hDdf 2564.5

;8s tyf af6f] tkm{

cGo tkm{

afnaflnsf tkm{



1 afnljjfx Go"gLs/0f,;DaGwL sfo{s|d j8f e/L @ 100

2 ls;f]/ ls;f]/L sg{/ :yfkgf @ 50

hDdf 150

1 d8} ufpF cfw'lgs 3§ lgdf{0f @ 200

2 cd;}gL  cfw'lgs 3§ dd{t @ 50

dlxnf s[lif ;d'x cfo cfh{g @ 100

3 gf/L lbj;, tyf dlxnf lx;+f ;r]tgf sfo{qmd j8f el/ @ 200

hDdf 550

1 l;nfO{ s6fO{ tflnd tyf l;nfO{ dl;g vl/b lat/0f j8f e/L @ 200

1 a|dk'/ Gjfnf] @ 50

2 u/fnL vf=kf= tyf l;=kf]= @ 100

3 lg/kfnb]j kf]v/f,e}nf]8f kr/a]p vf=kf=dd{t @ 400

4 vfn vf= kf= dd{t @ 100

5 kf}v/ vf= kf= dd{t @ 300

6 hdGkm6f ;fsL{6f]n Gjfnf] lgdf{0f @ 70

7 skmNkfgL vf=kf= dd{t tyf la:tf/ @ 150

8 dNnfufpF hf]uL3/ vf=kf= @ 500

9 e"ld/fh ;f=cf=lj= vf=kf= dd{t @ 100

10 wfgf3f6 w+uUof8L vf=kf= @ 150

11 zdf{nL ahf/ a= vf=kf= of]hgf @ 250

12 Gjfnf] lgdf0f,7"nf Gjfnf, uf]v]{ Gjfnf ddt @ 100

13 hf]nfkfgL vf=kf=dd{t hf]nfkfgL @ 100

ul/j tyf blnt laz]if sfo{qmd -;f}+o{ phf{_ 150

h]i6 gful/s ;Ddfg sfo{qmd @ 100

14 tNnL s'F8L vf=kf= dd{t २ 50

hDdf 2670

1 rGofwf/f l;rfO{ kf]v/L dd{t qmdfut @ 50

2 sdnk'/ l;=kf]= lgdf{0f s|dfut @ 50

3 36\6Luf8 l;=kf[= tyf s'nf] lgdf{0f kf}v/ @ 500

4 u'Gh]vfnL l;=kf]= lgdf{0f @ 50

5 kmN6fgL l;=kf]]= lgdf{0f @ 100

h]i7, ckf+u, cflbjf;L blnt tyf lk5l8Psf] ju{    

vfg] kfgL tkm{

l;+rfO{ tkm{

dlxnf tkm{



6 sNofcfd l;=kf]=lg= @ 150

7 l;df/ l;= kf]= / s'nf] a:sf]6L @ 300

8 s'8L6f]n l;= kf]= @ 50

9 ds{gnf l;=kf]= dd{t tyf lgdf{0f @ 150

10 hf]nfkfgL l;=kf]= dd{t tyf lgdf{0f @ 50

11 cd;}gL l;=kf]+ lgdf{0f @ 300

12 6f8Lvs{ l;=kf]= tyf s'nf] @ 100

13 ;fnLau/ l;= s'nf] lgdf{0f @ 500

14 x/8km8f l;=kf]= @ 100

15 l;df/ l;= kf]=blnt al:t km6\s]9'+uf @ 70

16 l8:nfgL l;=kf] tyf s'nf] lgdf{0f @ 200

17 n]s l;=kf]= tyf Gjnf] lgdf{0f blnt al:t km6\s]9'+uf @ 250

18 uGjf u8f l;=kf]= @ 70

19 aflif{ l;=s'nf] @ 600

20 36\6Luf8 ;gsf]6 l;=kf]= @ 100

21 emfl0fv]t l;=kf]v/L @ 150

22 s's'l8uf8 kf]v/L lg @ 100

hDdf 3990

1 lgkf{nb]j cf=lj= ejg lgdf{0f kf]v/f @ 500

2 o'jfaif{ cf= lj= !sf[7] ejg lgdf{0f @ 400

3 lzWbgfy cf=lj= lkmN8 lgdf{0f vfn sf]k/] @ 150

4 hgr]tgf cf=lj= kvf{n lgdf{0f n]bf @ 150

5 s]bf/gfy cf=lj=lkmN8 lgdf{0f kf}v/ @ 100

6 e"ld/fh cf= lj= ejg dd{t km6\s]9'+uf @ 150

hDdf 1450

1 cd/u9L lsNnf ;+/If0f kfs{ lg= @ 500

2 aftfa/0f ;+/If0f sfo{qmd @ 200

3 z';f;g ;DaGwL uf]i7L @ 100

4 o"jf cfo cfh{g ;DaGwL sfo{qmd @ 250

5 laleGg vf=kf=dd{t @ 200

6 laleGg ;+3 ;+:yf ;xof]u sfo{qmd @ 100

ljBfno tkm{

cGo tkm{



7

sIff !)sf, blnt tyf cGo pTs[i6 afnaflnsfnfO{ 

k'?:sf/ tyf cWoog ;fdu|L lat/0f
@ 100

lzz' sIff ;+rfng tyf Joj:yfkg @ 280

afn e]nf ;+rfng tyf 6'x'/f afnaflnsfx?nfO{ laBffno 

hfg ptk|]l/t sfo{qmd
@ 100

cf/g ;'wf/ sf=tyf  lakGg gful/s lhjg :t/ ;'wf/ sf= @ 300

5fnf k|zf\wg tyf 5fpkl8 d"Qm pTk]l/t sf= @ 100

ahf/ Joj:yfkg ejg lg= zdf{nL @ 100

lg/kfnb]j klx/f] lgoGq0f kf]v/f @ 300

a:sf]6L aly{+u;]G6/ ejg lg @ 300

2 :jf:Yo rf}+sL ejg dd{t tyf hUuf Joj:yfkg @ 800

3 :jf:Yo rf}+sL Nofk :yfkgf tyf sd{rf/L Joj:yfkg @ 200

4 cf}ifwL tyf  9'jfgL  tyf kmlgr/ @ 60

5 kf]v/f aly{+u;]G6/ ejg lg @ 350

k"0f ;+:yfut ;'Ts]/L j8f 3f]if0ffsf] nfuL k"j{tof/L @ 100

k'0f{ ;/;kmfO{ j8f 3f]if0ff  k"j{ tof/L sf= @ 200

1 lgkfn{b]j dlGb/ 3]/ kvf{n lgdf0f @ 100

2 lz4gfy dlGb/ lgdf{0f zdf{nL @ 150

3 a|dk'lq dlGb/ lgdf{0f ;Gsf]6 @ 50

4 lz4gfy dlGb/ rkL{ lgdf{0f kr/Jopm @ 50

5 v]ns'b ,xflh/Lhjfkm k|ltof]lutf sf= @ 200

6 a8\afjb]j dlGb/ dd{t a|dk'/ @ 50

7 b]lxu8f eujlt dlGb/ lkmN8 lgdf{0f @ 185

8 gful/s j8fkq ;"rgfkf6L{,ph'/L k]6Lsf cGo @ 50

9 zdf{nL k|x/L rf}sL kmlg{r/, 6\ofsL+ v/Lb @ 50

10 zdf{nL ;xsf/L Joj:yfkg @ 100

11 cfw'lgs 36\6 lg= n]bf @ 100

12 8f+uf lkhf; dlGb/ lkmN8 lg= zdf{nL @ 50

13 ;fj{hlgs ;'gjfO{ @ 50

14 ;f=cWoog s]Gb| dfkm{t k"0f{ ;fIf/ j8f 3f]if0ff sf= zdf{nL @ 100

hDdf 5925

jf8{ g+=  @ sf] hDdf -*% of]=;+=_ 17500

1 ;fpu8f a5nf gu/f}+3f6 ;8s lg ;fpu8f k'l8n 3 2500

;8s tyf af6f] tkm{



2 vfgv'gL u'g]dx/ af6f] lg 3 150

hDdf 2650

1 afnljfx Go"gLs/0f,tflnd,;8s gf6s j8f e/L # 100

1 dlxnf Ifdtf lasf;, j8f el/ # 100

2 l;nfO{s6fO{ tflnd j8f el/ # 200

hDdf 300

1 h]i6 blnt ckf+u gful/sx?nfO{ ;Ddfg j8f e/L # 50

2 blnt ;fd'bflos ejg lg= a5nf # 400

3 cf/g  ;'wf/ ;s/f # 50

4 cf/g ;'wf/ k'l8n # 50

hDdf 550

1 vf=kf tyf Gjfnf] dd{t ,dlGb/ Gjfnf],a:s6\6] kfO{k dNnL k'l8n # 300

2 88=f vf= kf= tyf l;rfO{ kfOk of]hgf qmdfut ;s/f # 150

hDdf 450

1 emfl0fv]t l;=kf]v/L emfl0fv]t # 250

2 s's'l8uf8 kf]v/L lg s's'l8uf8 # 150

3 lemdf}+0of kf]v/L dd{t # 50

4 4f/L kf]v/L s'nf] lg # 500

5 kf]v/]6L s'nf] kf]v/L lg kf]v/]6L # 510

6 ;s/f s'nf] kf]v/L lg ;s/f tf]nL 3 400

hDdf 1860

1 >Lk'/ df=lj=sf]7f / lkmN8 lg k'l8n # 1690

2 >L/fhk'/ cf=la=ejg lg # 800

3 uj]{Zj/ k|f=lj=kmlg{r/ lg= # 200

4 s]bf/gfy k|f=lj=ejg dd{t ;s/f # 50

hDdf 2740

1 a5nf ;f=ejg dd{t a5nf # 100

2 aly{+u ;]G6/  ejg lg= a5nf # 1000

dlxnf tkm{

h]i7, ckf+u, cflbjf;L blnt tyf lk5l8Psf] ju{    

vfg] kfgL tkm{

l;+rfO{ tkm{

ljBfno tkm{

ejg lgdf{0f

afnaflnsf tkm{
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hDdf 1100

1 st/s6\of 8'Dgof}+8f e"+;+/If0f st/s6\of 8'Dgof}+8f # 200

2 tNnfufp ltnf}+tfgL e"+;+/If0f tNnfufp # 300

hDdf 500

1 ;xsf/L Joj:yfkg # 100

2 ;fj{hlgs n]vfkl/If0f tyf ;fj{hlgs ;'gjfO{ # 50

hDdf 150

jf8{ g+=  # sf] hDdf -of]=;+=@&_ 10400

1

;8s lgdf{0f -5]nf 6f]l6vfnL lnvf8L ;8s ?=&)). , 

e'n}n]s lkknsf]6 vl8s ?=&)). / vsnfO{ b]lxu8f, 

auf/ ?&)). u/L hDdf ? 4 2100

1 afn Sna k'g{u7g tyf lg0f{o n]vg, g]t[Tj,Ifdtf lasf; sf=j8f e/L 4 165

2 afn aflnsf af}+l4s k|ltof]lutf,v]ns'b k|ltof]lutf sf= j8f e/L 4 100

3 afn lajfx Go"lgs/0f cle'lvs/0f j8f e/L 4 80

4 clt ljkGg kl/jf/sf afnaflnsfnfO{ z}lIfs ;fdu|L lat/0f j8f e/L 4 50

hDdf 395

1 dlxnf Ifdtf lasf;, j8f el/ 4 100

2 Psn dlxnf Ifdtf clea[4L sf= j8f el/ 4 70

3 dlxnf cfo cfh{g sf= - l;nfO{ s6fO{ tflnd_ j8f el/ 4 200

4 lth laz]if sf=;+rfng j8f el/ 4 50

5 gf/L lbp; sf= j8f el/ 4 25

hDdf 445

1 clt ljkGg tyf h]i7 gfulsnfO{ sdan lat/0f $ 100

2 ckf+utf cfo d'ns -l;nfO{ s6fO{ tflnd,_ j8f e/L 4 100

3 blnt g]t[Tj, Ifdtf clea[l4 j8f e/L 4 50

4 blnt cfo cfh{g cf/g lg=,l;nfO{ s6fO{,t/sf/L v]tL,s'v'/f,afv|f kfngj8f e/L 4 100

5 vl8s blnt ;f=ejg lg= vl8s 4 100

hDdf 450

cGo tkm{

e"  ;+/If0f tkm{

;8s tyf af6f] tkm{

afnaflnsf tkm{

dlxnf tkm{

h]i7, ckf+u, cflbjf;L blnt tyf lk5l8Psf] ju{    



1 /Ty8L vf=kf=of]= /Ty8L $ 300

2 ;NnL df/f]8f a}+s'Ggf vf=kf= ;NnL df]/f]8f $ 250

3 a;'nf vf=kf=of]= a;'nf $ 300

4 auf/ vf=kf=of]=6+sL lg= auf/ $ 475

5 a;'nf vf]nf lnvf8L ;]nf; vf=kf=of]= lnvf8L $ 250

6 af}++u88f vf=kf=of]= af}++u88f $ 700

7 s]bf/ e08f/ Gjfnf] lg :jnknf $ 200

8 :jf:Yorf}sL laBfno vf=kf=of]=dd{t lkknsf]6 $ 100

9 6f vf=kf=of]=dd{t 6f $ 100

10 uh{n ds}n vf=kf=of]= $ 200

hDdf 2875

1 kr/d l;=of]= kr/d 4 300

2 lhd8L l;=of]= lhd8L 4 200

3 7'nf]vf]nf l;=kf]v/L lg 7'nf]vf]nf 4 100

4 lkknv]t l;6=o]=dd{t lkknv]t 4 450

5 nf]hgL l;=of]= nf]hgfL 4 300

6 bfgf}+ l;=of]= bfgf}+ 4 350

hDdf 1700

1 lkknsf]6 df=lj= lkmN8 lg lkknsf]6 4 400

2 rGb|b]jn df=lj=3]/k|vfn lg= :jnknf 4 350

3 u+u]Zj/ cf=lj=ejg dd{t ds}n 4 200

4 ejfgLk'/ cf=lj=5fgf dd{t sf]k/] 4 200

5 vDkfn cf=lj=lkmN8 lg= auf/ 4 200

6 nf6]Zj/ cf=lj=efG;f sf]7f lg= lnvf8L 4 175

7 gjb'uf{ cf=lj=efG;f sf]7f lg= s'+u]km6f 4 200

8 hfsNof0f cf=k|f=lj=ejg dd{t 6f 4 100

9 lzz' lasf; s]Gb| Joj:yfkg vl8s 4 100

hDdf 1925

1 ds}n hgs,df]xg,/fd 7s'/f7Lsf] 3/ cfug klx/f] lgoGq0f $ 150

hDdf 150

vfg] kfgL tkm{

l;+rfO{ tkm{

ljBfno tkm{

e"  ;+/If0f tkm{



1 lkkn rf}+tf/f lg= lkknsf]6 $ 50

2 hf]zL a8afa dlGb/ lkmN8 lgdf{0f $ 100

3 b]lxu8f eujlt dlGb/ lkmN8 lg= b]lxu8f $ 200

4 u+u]Zj/ dlGb/ dd{t :jnknf $ 200

5 aly{+u;]G6/ ejg sf]k/] /Tofn lg= $ 400

6 lzz' sIff ;+rfng tyf Joj:yfkg sf]n]p8f $ 100

7 :jf:Yo rf}+sL sd{rf/L Joj:yfkg $ 500

8 Pstfa4 ;"jf Sna $ 50

9 ;xf/f o"jf Snj $ 50

10 klx/f] lgoGt0f lnvf8L ds}n 200

11 pbob]j ;xsf/L ;+:yf ;fdfu|L vl/b $ 100

12 ho nIdL ;fgf ls;fg ;fdfu|L vl/b $ 100

13 ;fj{hlgs n]vf kl/If0f, ;fj{hlgs ;'gjfO{,k|lta]bg j8f $ 100

hDdf 2150

jf8{ g+=  $ sf] hDdf -of]=;=%$_ 12190

1 skmf8L b]vL 5]nf ;Dd df]6/ af6f] lgdf{0f 5 500

2 bf];]/f b]vL lzjgfy dlGb/ ;Dd af6f] lgdf{0f 5 350

3 ;gnfO{6 af]l8{ª :s'n b]vL nfdfvfnL ;Dd af6f] lgdf{0f 5 300

hDdf 1150

1 afnaflnsf nlIot sfo{qmd j8f e/L 5 100

1 dlxnf l;nfO{s6fO{ tflnd j8f e/L 5 200

1 h]i6 gful/sx?nfO{ sDanlat/0f j8f e/L % 100

2 blnt cfo jw{s sfo{qmd l;nfO{ s6fO{, j8f e/L 5 200

hDdf 300

1 js/df/ vfg]kfgL dd{t vsnfO{ % 100

2 s'nfu8f b]vL skmf8L dlGb/ ;Ddsf]] vf=kf= dd{t % 150

3 skmf8L dlGb/ b]vL nfdu8f ;Dd vf=kf= dd{t % 100

4 j;/ Gjfnf dd{t % 50

cGo tkm{

;8s tyf af6f] tkm{

afnaflnsf tkm{

dlxnf tkm{

h]i7, ckf+u, cflbjf;L blnt tyf lk5l8Psf] ju{    

vfg] kfgL tkm{



5 bf];]/f dflyNnf] tnnf vfg]kfgL dd{t % 400

6 s'nfsf]6 vfg]kfgL dd{t % 100

7 jUh]jnf dNn]v Gjfnf] kf]v/L lgdf{0f % 500

8 jUh]jnf kf]v/L dd{t % 100

9 dlt vGgf Gjfnf] dd{t % 50

10 7'nfvf]nf e6fu8f jfdl0fdf8f}+ vfg]kfgL of]hgf % 800

11 /f]6] b]vL x/nfvfg ;Dd+ vfg]kfgL of]hgf % 150

12 5]0f vf=kf= of]hgf % 150

hDdf 2650

1 pbob]j df=lj= #sf]7] ejg lgdf{0f skmf8L % 1500

2 lzjk"0f{ cfwf/e't ljBfno @ sf]7] ejg lgdf{0f nfdvfnL % 1000

3 z+s/k'/ cfwf/e't ljBfno lkmN8 lgdf{0f bGgL % 200

4 zf/bf cfwf/e't ljBfno vfg]kfgL lgdf{0f s'nfsf]6 % 250

5  /f}n]Zj/ cfwf/e't ljBfno efG;fsf]7f lgdf{0f af? % 180

6 s}nkfn cfwf/e't ljBfno !sf]7] ejg lgdf{0f vsnfO{ % 500

7 g'jfsf]6 cfwf/e't ljBfno ejg dd{t ef8Lu8f % 120

8 lkknsf]6 p=df=lj=  ;xof]u nf]hgL % 34

9 ;f]d]Zj/ df=lj= ;xof\u d8 33

10 lx/fk'/ df=lj=  ;xof]u lx/fk'/ 33

hDdf 3850

1 skmf8L dlGb/ Ps sf]7] ejg lg % 400

2 s}nkfn dlGb/ wd{zfnf lgdf{0f % 150

3 ;l/of dlGb/ wd{zfnf lgdf{0f % 150

hDdf 700

cGo tkm{

afn aflnsf Ifdtf lasf; tflnd 5 90

dlxnf Ifdtf lasf; sf= % 90

l;nfO{ s6fO{ tflnd % 150

af? vsnfO{ af6f] lg % 300

ckf+ux?nfO{ sDan lat/0f % 100

cf/g vl/b % 120

af+; ln+ufnf] ;fdu|L tof/L tflnd % 150

ljBfno tkm{

ejg lgdf{0f
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aly{+u;]G6/ skmf8L % 350

aly{+u;]G6/ nfdfvfnL % 450

cf}+iflw tyf 9'jfgL % 27.442

afnljjfx Golgs/0f laBfno :tl/o % 100

xflh/ k|ltof]lutf sf= % 80

afn Snj Ifdtf clea[l4 sf= % 90

afn Snj ;fdu|L vl/b % 100

a'gfO{ tflnd tyf ;fdu|L lat/0f % 90

gf/L lbp;  n}+lus lx+;f Go"lgs/0f % 50

>L /f}+6]kfgL vf=kf=dd{t vsnfO{ laBfno ;Dd 100

aUh]jnf l;rfO{kf]v/L dd{t 100

af? /f}+6]kfgL l;=of]= lg % 150

;/;kmfO{ k|j{4g sfo{qmd % 50

1 lzjgfy dlGb/ kvf{n lgdf{0f % 200

2 sgnL s]bf/ b]pubf dlGb/ kvf{n lgdf0f % 100

3 uf]jhf]zL dlGb/ kvf{n lgdf{0f % 150

5 ;fj{hlgs n]vf kl/If0f, ;fj{hlgs ;'gjfO{,k|lta]bg % 50

6 js'Ggf / lx/fk'/ hf]8\g] d;flg3ft vf]nfdf k'n % 500

hDdf 3737.4

jf8{ g+=  % sf] hDdf 12687

1 krsf]/f af; b]vL a;]/Lejf+ x'b}+ lx/fk'/ ;8s lg= krsf]/f,lx/fk'/ ^ 400

2 ;'Nn]vfg b]vL dNnLd8 x'b} kf]v/]6L,d8 ;8s lgdf{0f dNnLd8 ^ 300

3 hf]gf{ b]vL pbob]j dLgb/ sfgnL ;8s lg= sfgnL ^ 700

4 4fl/sfbjL 7s'/fgL s[lif ko{6g ;8s lg= ^ 700

5 cf]Nof b]vL a;8L 4fl/sf kx'r ;8s lg= ^ 550

hDdf 2650

1 afn SnanfO{ v]ns'b ;fdu|L vl/b ^ 70

2 xflh/hfjfkm tyf alStTjsnf ^ 70

3 afnaflnsf Ifdtf clea[4L sf= ^ 80

4 afn lajfx Go"lgs/0f cle'lvs/0f j8f e/L 6 135

hDdf 355

1 l;nfO{s6fO{ tflnd j8f el/ 6 150

;8s tyf af6f] tkm{

afnaflnsf tkm{

dlxnf tkm{



2 a'gfO{ tflnd tyf ;fdu|L lat/0f j8f el/ 6 200

3 dlxnf Ifdtf lasf;, j8f el/ 6 70

4 dlxnf d}qL rSsL ;+rfng 6 200

hDdf 620

1 ckf+ux?sf] tYof+s ;+sng tyf sDanlat/0f j8f e/L ^ 100

2 cf/g  vl/b tyf lat/0f j8f e/L ^ 100

3 l;nfO{ s6fO{ tflnd tyf l;nfO{ dl;g vl/b lat/0f j8f e/L 6 100

h]=gf= sDan ljt/0f j8f e/L 6 100

blntx?sf nfuL l;nfO{ dl;g vl/b j8f e/L 100

4 af; lg+unf af6 lg=x'g] ;fdu|L agfpg tflnd j8f e/L 6 100

hDdf 600

1 lx/fk'/ df=lj=ejg lg lx/fk'/ ^ 850

2 s[i0f cf=la=ejg lg sfgnL ^ 800

3 lhD]Zj/ cf=lj=ejg lg a;]8L 6 800

hDdf 2450

1 jly}+u ;]G6/ sfgnL 6 500

2 jly}+u ;]G6/ a;]8L 6 500

hDdf 1000

1

gful/s j8fkq ;"rgfkf6L{,ph'/L k]6Lsf tyf ;]jfk|jfxsf 

dfkb08 lgwf{0f j8f sfof{nodf ^ 50

2 pkef]Qmf ;ldltx?nfO{ cled'lvs/0f sf= ^ 0

3 ugfuf8 cf/= l;= l;= k'n  sfgnL ^ 600

4 ;fj{hlgs ;'gjfO{ ^ 70

hDdf 720

jf8{ g+= ^ sf] hDdf -of]=;+=@&_ 8395

jf8{ g+= ! b]lv ^ ;Ddsf] s'n hDdf 76672

h]i7, ckf+u, cflbjf;L blnt tyf lk5l8Psf] ju{    

ljBfno tkm{

cGo tkm{

ejg lgdf{0f
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